i EFEEEER
FEESEHR (CD) BT R3EE R4ERE R5ERE
RERKAO A 161,601 159,512 156,944
FKEEZEARD
JOJ«.—)L
EEL A 60 60 59
FERKIRFER - FAK (BiR) FRAK (BiR) FRAK (BiR)
FIKZEKE % 33.5 32.1 30.9
> 5 il *D IE* f= @ =1
S 25 LD fax 520 &R/ 0.74 0.75 0.76
JOoJ«—L KIBE 1B A
HWAKAOQ1BAAYEDD 7
" 0 i 3.34 3.39 3.44
)i AN
BIUKEEE Fm3/ha 0.67 0.65 0.64
MRS D IKIEAX—4 —EE f8/km 81.4 80.7 80.6
JOJ«.—)L
HiifEER m/ A 6.60 6.74 6.86
#HEFR - BARE




PIt&E{E | PISTE1E | PISTE(E o o
X5 B PI& ==Fv} 8
(R3) (R4) (R5)
Al101 | K EBIEREE 0.38 0.42 0.40 (mg/L) KBIEREE S KRBIERAITELIER
BADERYEEEKE (18, IEE%)
. ) . SAHESYEEE KEEE) x 100
A102 . 20.0 20.0 20.0 (%) (BERADERMERE/ KEEEE) X
wWhu)\OX5 > iEEK s (%8 DM ERE/ 18 #) /K&
AL03 * - 33.0 G G %) : (Fa7KAR DEANNDI YRS/ $A7KARER) / /KSR
BEEIEXK #4Ex 100
B (TOC) EE/KE S (MaKAEDE#Y) (TOC) EE/ K% /
o]
A104 IR 28.3 16.7 23.3 (%) KEEEEX 100
e o s (8, BER) |3 (WkROLUZESREE BKERL) / KEE
KBEEE |A105 |ELBEEKEEELR 10.0 0.0 0.0 :
(%) #fEx 100
ﬁ}\}\ 4 Eﬁiaf Evi BE E, IE o E IE’% BEE o % =
" AL06 Y BRI KSR 14.1 14.1 15.4 (& B&) |= g’f’\ﬂdﬁd)-_—ﬁ Y BRI faKAeER) /7K
74 (%) E#{Ex 100
ES AL07 B bEYEREKER 0.0 0.0 0.0 (B, IHBf) |5 (KE0XZEMUCZYIERE BKIeE) /
c HE PR ' ' . (%) KEE#(EX 100
=} SHE R YR K B, 18 1K DS BB I ER YRR 1rKies
- A108 ﬁam]iﬁ%%&f KEE 16.7 16.7 16.7 (f&, IBB®&) |= (%’\7&@@-_—5“ HE R4 RYDRE/ Fa7K1EE0) /
= AR (%) JKBEAEEEX 100
13 Al109 |BEEE/KEEIEBEL - - - - max S(Xij/GVj )
Z A201 |BKKEBEARE 65 65 65 (1B8) BAOKEERER
II/_\7 7] = = B (EFE 100 ,l/El\ 2 ey KIKEPRE I g
7202 i_M@ KEWRE (BRH) 12.4 12.4 12.4 / (ME7kikERE (BH) H/KEME/IRTERK
EPREE km?) &) x 100
EeA=$ii] SEERI(CiEIR LA/ BB S / BAthER
M A203 |EK SRR 79.9 79.9 46.1 (%) (SERICARLBATRANER / BARS
FE) x 100
A204 |EFEHEKE 98.7 98.6 98.5 (%) (SRR 487K 20 x 100
A205 |BT/KfEKIEIEESR 12.2 11.9 11.4 (%) (BF7KAB KBS EAEEL / BT 7KAB/KIEEL) x 100
s A301 |/KBDKEBHUFER 0 0 (0] () FERKEK BB
KERR
A302 | ¥ RIBMER IR R 10.2 23.7 23.9 (%) (KRB MR FERLIEK 2/ FERIFKE)x 100
BT A401 |nBUEKE=R 0.1 0.1 0.1 (%) (PRBE/KERE MR/ EKIFE) %100




i w | zp | == PIZ PISTSME | PIETSE | PITSE Hifiy st
(R3) (R4) (R5)
B101 |BCAREKERER 61.3 69.8 69.8 (%) (B SREKEKE/£KEKE)x 100
B102 |EUKE1m iz DKBIFSISEEE 0.00 0.00 0.00 (F/m?) KBRS (T8 8 U B/ ERIBVKE
B103 |Hi /K= 5.6 5.5 5.3 (%) (HFokigKE / ERIEUKE)X 100
B104 |fEs&FIAR 50.1 53.5 53.5 (%) (—BTIBLKR/MEEREE) x 100
B105 |BAWEE 54.5 60.6 57.5 (%) (—AEABUKSE/HEE%EE7)x 100
B106 |&faER 91.9 88.3 93.0 (%) (—BFEK SR/ —HRABIKE) % 100
B107 |BKBREEZE 4.1 4.1 4.1 (km/km?) LK EHE /BTG K
B108 |EIKiRE 30.1 33.2 28.3 (%) (AR U ERIER / BIRIEE) x 100
FEEREIE B109 |/ULT &= 0.2 0.4 0.6 (%) (ERUR/ULTE / JULTREE) x 100
B110 |fR/K= 6.5 6.0 11.1 (%) (FERRKE / ERMBUKE) x 100
B11l |BM=E 93.0 93.3 88.6 (%) (EREMKE / FREIKE) x 100
Z B112 |BINE 88.5 86.5 85.0 (%) (ERBEIUKE/FREIKE)x 100
E B113 |EC/AKtETEREE 0.93 0.92 0.92 (=) BithEMES R/ — B gk
L Pt B114 [fA7KAO— A7z DEIKE 319 324 329 (WISEUN) (—BFEKE/RERAKAD)* 1,000
= = B115 |fA/K&IREZ 0 0 0 (=) FRIAKHIRAEK
7K & B116 |fAkER= 98.0 98.1 98.1 (%) (BRAEFAK N O/H7KRKIZPIAO) x 100
D b2 B117 |fEmiRsEiEXR 48.5 48.5 48.5 (%) (FARMES S Heti - B - STEHLESDAETER) x 100
it B201 [FKBEHEIE 0.00 0.00 0.00 (4/10 £ BFF) | 10ERDRKSEIEBHIES / BKI85
fa B202 |SEHBFHTKAOR 51.5 52.4 53.8 (%) (SEHRBS HK A I/ BRTERSK D) x 100
B203 |(ak ACI— A7 DRFEBEREIKE 148 | 150 | 152 (ay |EREREEEA/2 T RRIARER) 1,000/
TEaKAO
B204 |BROEHRES 4.9 4.7 4.7 (/100 km)  |EHROBHAE /( EHIEE/100)
B205 |ERBROENREE 0.0 0.0 0.0 (/100 km)  |EHBEROBHITE/(BBEREE/100)
missEwss | B206 | BEREROENREAE 1.0 1.1 0.7 (44/100 km) SRBVEIRDOBIEY / (BRREIRIER/100)
B207 |FESRBEROBHWEIS 12.7 11.4 12.5 (5/100 km) | FESABIERROBHTS / (FRAREIRILE/100)
B208 [tAKBDBHEIS 1.0 0.9 1.2 (14/1,000 )  |[#KEDBHUTE / (FBKEEER/ 1,000)
8209 FAKAO— AE Iz D FIRIK - BoKEE 0.70 0.94 0.59 () T(WK - BAKBER x WK - SEBARISAKAD) / BIE
i fBkAn
B210 |KEMHINFEREMEIER 6 5 1 (B1/4F) ERID KB RN EL
B211 |JHANASRERE 2.4 2.4 2.4 (E/km) THARH / BUKEER




PIStE1E | PIFTE1E | PIFTE(E . i
BiZ £ X5 E55 P14 I=={v) STER
(R3) (R4) (R5)
B301 |A/KE1m3 Hj DB HEERE 0.32 0.33 0.34 (KWh/m?) | BriEmeEnast | GrEokE
B302 |BKELm3 iz DBETRILFT— 3.38 3.15 3.20 (M)/m?) THLFEER / EMEkE
- BOKEIm3 S/2 D —BLx (CO,) N .
& B303 [ 171 162 164 (g- CO,/m)  |[ZEELiSR (CO2) Pt / 4RIEAE] x 10
revy 5
=
BB . SRR TRILF—RROBEHERE | 2HER0E
& s B304 |BALETRETRILE—FIRR 0.00 0.00 0.00 (%) (BETELOLT —RROTHRFE / SHROT
. 13 HIEFIE) x 100
f B305 |kFeETOEMFIAR 100.0 | 100.0 | 100.0 (%) (EFIFILE / BkRELE) x 100
= YA DL e RREENE | BRaENRE
L B306 |@BREIEMDUYA LR 67.4 35.6 27.3 (%) ¢ ARV [ RREIEY
=) x 100
- ) DA VERELE + WELE)  BREE
2 . B401 |55 ILEEIKE - SER 60.9 61.0 61.3 (%) [(FOTTRRRER + WELER) / BELE] x
K Mg 100
o B402 |ERSOITRE 0.07 0.02 0.07 (%) (RS E/ SHIEE) x 100
it - BSOL IR ABE R 0.0 0.0 0.0 (%) CEEMBEEIA C SRR/ SRk
A p $BEE7)x 100
8 B4 (EEMAEREBI T\ BN - BR - 5HERED
£ B502 |HEMFEABIBR R 71.3 71.3 71.3 (%) EoaEy
1 HEEY o, - B - SHERRR DA x 100
EEMREREBR C\\5ERILE ST
BS03 | BEREE 297 | 309 | 324 (%) VR LS BIERBIER
B504 |BROEIE 0.36 0.42 0.42 (%) (EFf N - BEIEE/ BIIER)x 100
BS05 |BISDBER 0.00 0.00 0.00 (%) (B &N/ BIRIER/BIIER)x 100




PIStE1E | PIFTE1E | PIFTE(E . i
Sh= %8 X5 E55 PI%& I=={v) STER
(R3) (R4) (R5)
B601 |RMRIDE KALER 0.0 0.0 0.0 (%) (EKREEE /237K HEEREE ) x 100
51 é 7:../ Drl‘l-\b 7 Dml_\b
B602 |i#/KHEEROMR(LE 15.5 14.8 14.8 (%) (Xmlj;)mﬁmﬁ MSRATRRHED [ £ ATRRIER)
(AR - BBEET SIEEDOMEICF KR +5
B602-2 |S#/KiEsRDE B SRR 0.0 0.0 0.0 (%) BOHHEROTHEAL R AR )/ SRR ]
x100
TRAED =R T PR TR SR
B603 |7K>IRRDMEILE 2.7 2.7 2.7 (%) (EHIROHE TR TR RRAEARA
TJFREES) x 100
BN RSN RO ENE R/ S E
. B604 |BLAtiODTHEILE 49.8 49.8 49.8 (%) (MENROBE N RACERRISE R SR
Z FE)x100
%= B605 |BIROMEER 21.6 21.8 22.1 (%) (MREHEE/BHEE) < 100
L " B606 |ERBROMEER 35.4 37.1 37.8 (%) (HHEBROS SHEETEE/ERERIEE)x 100
. EREROS STRELEDS 2 BRLEE/ B8 E
I = B606-2 |BHEBEOMEES 65.8 51.6 52.2 (%) (REFBIED S SHRAEOD SR/ RHE
X s | POUENR BSFER)x 100
= ] . . (BEERKIEREKERDS SR ETE/EERK
= ia %] EIROMEER . . 1. %
@ o B607 |EEHA/KMEREKEROMEE 52.0 50.7 51.5 (%) R EEER) X 100
1t . - (EERKIEREKEEDS 5HBBA DS 3 B
- : TEAR . 65.3 66.1 % ’
I B607-2 | EE /K ML B R D= 67.9 (%) L B B K BISIEE) X 100
_ REEI R T 8577/ — BRI
B608 |(SEmEAKBRIER 199.8 187.0 | 186.9 (%) S)ﬁf;)gﬁ% ERCE SRR/~ H TR
==}
(PR ERIRTER R — O TIERE) X (T
B609 |ERMEZA 9.4 7.1 12.2 =) BRI ERA A TEEEE) 0S5, &
WA DIE
B610 |MAMEZHL 0.6 0.5 0.5 =) AT RN R/ — EARHE R
B611 |LRHE/KMEEREEE 2.4 2.4 2.4 (EFR/100 km?)  |ISEdakiEss sy (RIEH/KERE/100)
B612 |fa/KEREE 0.012 | 0.013 | 0.013 (8/1,000 A)  |#87kessy/ (BRIEs@K A0/1,000)
B613 |HE&HRADEKTOFEE 0.12 0.13 0.13 (m3/1,000 A) |E#HARKY>IOBR/(KAO/1,000)




PIStEAE | PISTE1E | PIStEfE

BE | om| &» | &3 PIZ, e st
(R3) (R4) (R5)
C101 |EZIZHE= 114.9 109.4 98.8 (%) [(BfUNG - ZRTENR) /(BEEER- FEIHHE) ]x 100
C102 |[BEINZHE 114.3 109.9 109.1 (%) [(EZRINE + ERIMRES)/ (ERER + ERHERA)]1x 100
C103 |#8UNzE= 114.0 109.8 108.8 (%) (HURZS /B ) x 100
Cl104 |RERBBEHEEK 0.0 0.0 0.0 (%) [REXRIER/ (B2 - ZFETHUNE)]x 100
C105 [BARHE (RZHUIIAS) 22 18 | 11.4 (%) | (REEIERAS/RSRITA)x 100
C106 [(fEA&EIE (BAKIAT) 9.3 8.0 8.1 (%) (BARBTERAER/EARMIIAGT) <100
C107 [MiE— Az DiaKINE 62,485 62,850 57,245 (FA/N) HEKUNES /AB S B TE PR B B #
C108 [fa7KINZ(Cx 9 DEHRSEDEIS 9.7 10.5 10.7 (%) (B EWRS5E/faKINEE) %100
C109 [fa/KINES(CX I DEEEFBDEIES 6.0 5.6 6.2 (%) ({RZEF R /#EKINZEE) x 100
C110 [#a7KINZR (Cx 9 DimffEIIEDEIS 34.4 34.7 38.3 (%) (RATEENE /#a7K N ) x 100
Cl11l |#E7KUNES(CXT 9 DIRERTRRE DIz DI EER TR DEIS 32.9 34.2 36.3 (%) (BB DI DI EEEIR TR/ #EKUNE) x 100
12 C112 [#a7KINER (CX I DEEXREDEIS 431.3 448.3 532.3 (%) ({EEEES/FE7KINEE) %100
ES C113 |BEEIURER 109.9 105.2 93.9 (%) (A B/ %5 7K R4 ) X 100
73 Bt Cl14 |ftaE(f 210.3 211.9 192.4 (A/m?) KRS/ FREBIUKE
i w | BEER | s lexEm 1913 | 2014 | 204.8 (F3/m?) ;ﬁﬁifﬁ;;i;iig;;ﬁﬁﬁi;g%’E“‘i‘”ﬁm bt
2 C116 |11H10 M DRERRE 1,702 | 1,702 | 1,702 () 1 7V 10m? 27z D SEEFRIS:
= C117 |1Hh 820 m’HEeDRERRE 3,922 3,922 3,922 (M) 1 hA20m3Y ez DRERRE
C118 |7iEntb=R 256.5 260.3 197.9 (%) TRENERE/TRENEE) X100
115 | BoErmmiE o | 538 | sia o (AR R R ) i WA I
C120 |EEH=E 155.1 153.5 157.8 (%) [BEEE/(EAE+RIRE +HMMZEFEHEIEINES)]x 100
Cl21 |CREERT e AL 101.2 | 1046 | 101.2 (%) DEAERATSOERAREE/ (HERADRNA- K=
£RA)]x100
C122 |EFEEELERR 0.12 0.12 0.10 ([E1) (BN - 2T ENG)/ [(HEEEEE + BIREEEE)/2]
C123 |BEEEEFERME 6.5 6.4 6.0 (m*/5BH) FRfKE/ BREEEE
Cl24 [HBE—AZIOBEIUKE 297,000 | 297,000 | 298,000 (m3/A) FRRBIKE / IBSENEFEIRE
C125 |RB&EHEKREDEE 0.07 0.04 0.09 (14/1,000 ) |FBRSFERGL / (REFEREE/1,000)
C126 |REUNINER 91.4 91.0 89.4 (%) (NEMAZY FAFER) x 100

C127 |kaKELLEIS 5.4 5.3 5.7 (14/1,000 )  |#aKSLEAER / (Fa7k{4H#8/1,000)




PIsTEfE | PISTE(E | PISTE(E . _
B ¥ X5 ES PI& ==¥{v2 STER
(R3) (R4) (R5)
C201 |KERAMICET B BIREEE 3.22 3.03 2.78 I/ N) BB NS L T\ BKERAMTICE T 3 8188 / 2B
C202 |91EBRFERSRT 6.6 12.7 6.3 (BFRE/N) (BEIIEHEE S TR XZBAL) / 2B
C203 |PIEBRFERERS 0.7 0.9 0.0 (BERSI/N) (BB PIPREEZ S RREIXZHEAR) / 2B
1
” AMBR | C204 |#itiEgEx 63.3 65.0 66.1 (%) (FiTEL / 2BE%) x 100
C205 |/KEEHETIIREREL 8.9 9.5 11.1 (F/N) BB DGERISREREL / 2B
A C206 |EBRIREEL 0 0 0 (ONER=)) > (ERBIREEE x HEAL)
# C207 |EBBHZAER 0 0 0 (AN-H) S (EBBRHZAEL x WBEAR)
ﬁ C301 |#RHHEHFEX 100.0 100.0 100.0 (%) (BIEUT/KEA — 5 — 28 [ KBEA—5—5RBE) x 100
%%&5&5{ _ E EEE 7::) E@‘; Erbl*b ) Er\.hb
72 TE 302 [mkigmsmmEE 0.0 0.0 0.0 (%) (fo BERLIRABORAIINED / SRIMIED) x
i C401 |IEREEIC K BIBMODIZHE 0.0 0.0 0.0 (8B/1%) [R3REET & DBECAEPER / $a7KAEER
= - IR | CA02 |1 >H—Fy NC L BIERORME 5 5 5 (i) ST IR SADBHE
= a1 2 C403 |KEMERREELDS 6.7 7.2 9.9 (A/1,000 A) |B2EH/ GRIEH/KALD/1,000)
i_ = C501 |E=5E& 0.00 0.00 0.00 (A/1,000 A) |E=# A/ (RAEkaKALO/1,000)
| F C502 |77>or— MBIRIRERS 0.82 3.74 1.28 (A/1,000 A) |7>&—RNEBEAZ / (RTEHEKAD/1,000)
&
> & I C503 |EEERAx 82.0 64.4 61.2 (%) (EERBEEY / 72— NEEE) x 100
IS8
3 C504 |/KigH—ERICHT BEBEHIGEE 0.00 0.00 0.00 (#4/1,000 #) |7KGEY— B/ (1KEFER/1,000)
- C505 |KBICHT3HIBWGEE 0.17 0.16 0.16 (#4/1,000 #) |KEZIBEISAEE / (FaK4EE2%/1,000)
C506 |AGERS (T BHBEMISEES 0.01 0.03 0.00 (14/1,000 #)  |AGERSEIBIISAEL / (BKH8E/1,000)




